
Addition Pâques (C)Obtenez un œuf en chocolat pour chaque réponse correcte. Œuf en chocolat obtenu: _____/251241 1576 526 1731 1211+ 699 + 1803 + 743 + 1287 + 202
1685 789 659 1809 163+ 428 + 454 + 506 + 1160 + 175
1453 474 1600 103 615+ 1018 + 990 + 1523 + 1607 + 223
1818 1367 480 203 1848+ 1483 + 818 + 1227 + 365 + 41

338 1493 142 1825 963+ 760 + 1402 + 1394 + 592 + 1680
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Addition Pâques (C) RéponsesObtenez un œuf en chocolat pour chaque réponse correcte. Œuf en chocolat obtenu: _____/251241 1576 526 1731 1211+ 699 + 1803 + 743 + 1287 + 2021940 3379 1269 3018 1413
1685 789 659 1809 163+ 428 + 454 + 506 + 1160 + 1752113 1243 1165 2969 338
1453 474 1600 103 615+ 1018 + 990 + 1523 + 1607 + 2232471 1464 3123 1710 838
1818 1367 480 203 1848+ 1483 + 818 + 1227 + 365 + 413301 2185 1707 568 1889

338 1493 142 1825 963+ 760 + 1402 + 1394 + 592 + 16801098 2895 1536 2417 2643
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